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Section : General Awareness
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Q.9 What is the formula for momentum?
Ans X A. mass x gravity x height

< B. mass x velocity?
5 C. 1/2 x (mass x velocity?)

«# D. mass x velocity

Question ID : 75322914393
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Section : Arithmetic Ability
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Question ID : 75322914414
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Question ID : 75322914422
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Question ID : 75322914420
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Q.13 M@V Tah AT = W ST 9 kmph Y i & fRR o & &Rar & iR argw erran g1 afy 96
3 kmph &Y 7f @ 9 1 g, 9t & e & g Iud sftaa aifa sma 3

Ans o A. 8 kmph
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< C. 6 kmph
< D.5kmph

Question ID : 75322914421

Q.14 g 3R I 3 sHAM: 10000 FUY 3% 15000 Fug fAder forgi 4 7 & o, 79 2000 FUg
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Question ID : 75322914417

Q.15 =2 & 7 arferent €t arenT-3reT faaneral & foreft faety R ui=r wamait (ar=it 56 @ oY) &
Iufa Sl h T=ar o 22fd g1
Tf faarera X & Iufa sl & 40% wsfrai & ok Rene Y A Sufea o=l d 40% s &, aF
frerera X & IufRa wsforal it dear o1 e Y & Sufa asfral fit e @ srura ara

i
Sl famax | femay
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Tﬁ 60 140
g4t 140 80
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Ans X A 2227
o B.22:29
X C.11:13
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Question ID : 75322914426

Q.16 F HEAT 7 : 5 & 31Ut # & 3R Ik s FHIIGh 3R HgwH THTIGdh T O 3500
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Ans o A 120
7 B.70
& C.10
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Ans

Q.17 A € YAaw &= 1736 | @ ger @iy arfes ulRomd T &t 5, 18 ok 15 @ fRwnfSa &=
R v R 7 a8 Suwa 7' 1?2

7 A 26
& B.9
& C.19
< D.29

Question ID : 75322914413

Ans

Q.18 &4« Teh &Y aht 18 fo=1 & e TehaT @ 3R hreter S & aht 36 fel & &R TepaT 21 I/ Frf
I foman siik 6 Rt & are Fiter S1ah a3, <7t St @R v it 6 Rt A qRT e HeRert 81
fore Rl & S=gieY ot g fomam am?

X A6
X B.10
& C.8
X D.16

Question ID : 75322914423

Ans

Q.19 fA=afafEa usr & weraraes R (?) & A wR srrT fhasr |3 smgm?
149.93 T 59.96% + 765 T 26.08% =?

o A 289

7 B.169
7 C. 441
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Question ID : 75322914409

Ans

Q.20 U gdiflam & SIThR & Qe hl &Ithel 400 sq. m &, &1 TR Yonsii F fra R g 20m @
3R TR Yorrsil & @ Qe 16 m &1 g0 UHHIER ST A1d &3

XA 20m
« B.24m
K C.22m
< D.18m

Question ID : 75322914424

Section : General English

Q.1

Ans

The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Hardly was one meal/ finished when his mind/ centred upon the next.
< A. Hardly was one meal
#5 B. finished when his mind
#< C. centred upon the next.

# D. No Error

Question ID : 75322914429
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Q.2 Select the most appropriate meaning of the given idiom

A bird in the hand is worth two in the bush

Ans & A Having something that is certain is much better than taking a risk for more, because
chances are you might losing everything.

#< B. To state a fact so there are no doubts or objections
< C. A fair competition where no side has an advantage

< D. Someone who is unpredictable and can cause damage if not kept in check

Question ID : 75322914441

Q.3 Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly
spelt word.

Ans X A. prevaricate
< B. quotidian
«# C. contencious

5 D. refute

Question ID : 75322914440

Q.4 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Mother (reminded us that, "He would have been 16 if he was) alive today."
Ans X A reminded us, "He would have been 16 if he was

#< B. reminded us that, "He would be 16 if he was
& C. told us, "He would have been 16 if he were

25 D. No correction required

Question ID : 75322914431

Q.5 Select the most appropriate ‘'one word ' for the expressions given below

A person who believes in or tries to bring about a state of lawlessness
Ans X A Gazette

#< B. Ephemeral
#5 C. Deluge
&” D. Anarchist

Question ID : 75322914443

Q.6 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A. propariety
/< B. proprety
¥ C. propriety
£ D. propreity

Question ID : 75322914439
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Q.7 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

Two other species

P. adulterate nutmeg
Q. Myristica may

R. of genus

S. be used to

as a spice.

Ans X A RPSQ
2< B.PRSQ
o C.RQSP
< D.PSQR

Question ID : 75322914435

Q.8 Select the word that is opposite in meaning (ANTONYM) to the word given below

conveyable
Ans  # A immovable

< B.loose

< C. portal
£ D. ambulatory

Question ID : 75322914438

Q.9 Fill in the blank with the most appropriate choice

Power is collected through solar___________ cells, stored on site, and converted for use in
the house.

Ans X A verbose
/< B. venal
5 C.volatile
«” D. voltaic

Question ID : 75322914434

Q.10 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Never lost from memory is the transcendent/ God who exists not only on the other side/ of
space, but on the other side of time.

Ans X A.No Error
< B. Never lost from memory is the transcendent
«” C. of space, but on the other side of time.

< D. God who exists not only on the other side

Question ID : 75322914430
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Q.11 The question below consist of a set of labelled (P, Q, R, S) sentences. Out of four options
given, select the most logical order of the sentences which form a paragraph.

The gods in Greek mythology are very different from many modern ideas about religion.

P. Zeus became King of the Olympian gods, not because he was morally good or a creator
god.

Q. He became the absolute ruler of the universe after overthrowing his father and by
battling the Titans.

R. They were seen as great powers and not as spiritual or benign figures, as in the
Monotheistic religion.

S. Instead, he came to power in a cosmic war.

Zeus became King the way that many other monarchs seized power, with brute force and
cunning.

Ans X A RQSP
& B.RPSQ
% C.RQPS
2 D.RSPQ

Question ID : 75322914436

Q.12 Select the most appropriate idiom of the given meaning

Not willing to accept the ideas of others
Ans X A. Great minds think alike

#< B. Go the extra mile
«” C. Narrow-minded
25 D. Jaywalk

Question ID : 75322914442

Q.13 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

(His field ambulance had come from shellfire) and, despite all attempts to save him, he
died.

Ans X A. No correction required
< B. His field ambulance had come across shellfire
/< C. His field ambulance had come through shellfire

o D. His field ambulance had come under shellfire

Question ID : 75322914432

Q.14 Fill in the blank with the most appropriate choice
It is mildly repulsive initscrude ____________, but strangely and inexplicably alluring.
Ans o A vulgarity
#< B. veracity
& C. vexation

< D. zeal

Question ID : 75322914433
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Q.15 Select the word that is similar in meaning (SYNONYM) to the word given below

disenable
Ans X A. soothe

«” B. cripple
25 C. assist

/< D. assuage

Question ID : 75322914437

Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

Atoms of carbon, hydrogen and oxygen are put together to make molecules of sugar -a
carbohydrate food substance. The carbon comes from carbon dioxide gas in the air. Air
enters through holes, called stomata, in the plant's leaves. The hydrogen and oxygen come
from water. The water is taken up from the soil by the plant's roots. The light energy is trapped
by a special chemical called chlorophyll. Chlorophyll is green and gives green plants their
colour. The gas oxygen is left over at the end of photosynthesis and goes into the air.
SubQuestion No : 16

Q.16 How do plants trap light energy from the sun?

Ans X A. Through roots
< B. Through air
«# C. Through chlorophyll
5 D. Through stomata

Question ID : 75322914446

Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

Atoms of carbon, hydrogen and oxygen are put together to make molecules of sugar -a
carbohydrate food substance. The carbon comes from carbon dioxide gas in the air. Air
enters through holes, called stomata, in the plant's leaves. The hydrogen and oxygen come
from water. The water is taken up from the soil by the plant's roots. The light energy is trapped
by a special chemical called chlorophyll. Chlorophyll is green and gives green plants their
colour. The gas oxygen is left over at the end of photosynthesis and goes into the air.
SubQuestion No : 17

Q.17 Sugar contains all of the following, except

Ans X A. Carbon
#< B. Hydrogen
«# C. Carbon dioxide

75 D. Oxygen

Question ID : 75322914445
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Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

Atoms of carbon, hydrogen and oxygen are put together to make molecules of sugar -a
carbohydrate food substance. The carbon comes from carbon dioxide gas in the air. Air
enters through holes, called stomata, in the plant's leaves. The hydrogen and oxygen come
from water. The water is taken up from the soil by the plant's roots. The light energy is trapped
by a special chemical called chlorophyll. Chlorophyll is green and gives green plants their
colour. The gas oxygen is left over at the end of photosynthesis and goes into the air.
SubQuestion No : 18

Q.18 According to the passage, which of the following option is incorrect? Choose one option.

Ans X A.The hydrogen and oxygen come from water for the creation of sugar molecules.
5 B. Atoms of carbon, hydrogen and oxygen are put together to make molecules of sugar.
25 C. Chlorophyll is a special chemical that gives plants their green colour.

«” D. Carbon-dioxide is released at the end of photosynthesis.

Question ID : 75322914448

Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

Atoms of carbon, hydrogen and oxygen are put together to make molecules of sugar -a
carbohydrate food substance. The carbon comes from carbon dioxide gas in the air. Air
enters through holes, called stomata, in the plant's leaves. The hydrogen and oxygen come
from water. The water is taken up from the soil by the plant's roots. The light energy is trapped
by a special chemical called chlorophyll. Chlorophyll is green and gives green plants their
colour. The gas oxygen is left over at the end of photosynthesis and goes into the air.
SubQuestion No : 19

Q.19 What gas is produced as the result of photosynthesis?

Ans  # A Oxygen
/5 B. Carbon-dioxide
25 C. Hydrogen
25 D. Chlorophyll

Question ID : 75322914449

Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

Atoms of carbon, hydrogen and oxygen are put together to make molecules of sugar -a
carbohydrate food substance. The carbon comes from carbon dioxide gas in the air. Air
enters through holes, called stomata, in the plant's leaves. The hydrogen and oxygen come
from water. The water is taken up from the soil by the plant's roots. The light energy is trapped
by a special chemical called chlorophyll. Chlorophyll is green and gives green plants their
colour. The gas oxygen is left over at the end of photosynthesis and goes into the air.
SubQuestion No : 20

Q.20 What is stated as the source of carbon atoms in plants to make sugar?

Ans X A The stomata
/< B. The water
£5 C. The air
«” D. Carbon-dioxide gas in the air

Question ID : 75322914447

Section : General Hindi
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Q.1 Fafaf@a us 4, ar Reredt & @, 39 fererea &1 997 R it agaa- &0 1 qad st e 1
Ans X A TE

o B. @

#< C.urssdh

X D. g

Question ID : 75322914458

Q.2 f=fafad usr §, ar fRAeedl d |, 39 faerea o1 99+ o Sit Ry 71g 2reg & g 9@ g aama &
forrg 1 farerea g1
By
Ans o A, I STIST T GHER
< B. @1 o
X C.er g &
< D. i 3o

Question ID : 75322914451

Q.3 f=faf@«a us d, ar el d |, 39 faevey o1 999 o St 970 YoY araeh a1 2068 &1 Jest
3r<aT faeheT &1

Ans X A. 30
/< B.gd
X C.wr
o D. 3T

Question ID : 75322914459

Q.4 FEfaf@a vy d, ar Rl d |, 39 faed o1 aaa & st R 7g s o agh eref aren
faemea 21
STg deh QiY a9 deh 39

Ans o A Sfiae wiq smanfRad &
25 B. STegaTSt & e
5 C. 3T U™
75 D. Rma T sifdes ard st

Question ID : 75322914462

Q.5 F=fafEd us d, aR faeeal @, 39 e &1 og= &= St Ry 1Y 2reg & Sifein &q amen
farerea 21
fag=

Ans X A T

X B. fagr
X C. fagwen
o D.fags

Question ID : 75322914457
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Q.6 ffafad usr &, ar el d |, 39 T Reey 1 waq & it s == & g Iug 21 &
T freug |
=¥, AT I AT AT foh WRaenfRat & 3R & Hhaam eyl

Ans X A. SUR
«" B. TS
25 C. ¥l
25 D.f=

Question ID : 75322914456

Q.7 F=ff@d v d, ar Rl & |, 39 Rarea o1 799 &R ot & 7€ ggrer o1 9gt oref aren Reeu
gl
ST ST hl T HIeqH BT

Ans o A IS Hi&TE A U
7< B. 9gd #ed Al
X C.drar &
25 D. 3MMeR hH g1

Question ID : 75322914463

Q.8 fA=fafad uy A, aR fAereul & @, 39 ey o1 Ta9 3 Sit IuTf @ T 2 A1 T fAehrey AT
gl
Ans X A uREg

/< B. 9thet
£ C. 3mig
o D. geTa

Question ID : 75322914452

Q.9 fm=fafad usr &, ar el d |, 39 fReve o1 g7 = St Ry 719 2rez-gra & oref o1 @@
3T fashea 81
Hrar-fFar

Ans X A SiTeft-am
o B. ST 4T=-3eheT
75 C.JAmAr-3md
5 D. I-ARAT

Question ID : 75322914460

Q.10 Fr=fafEd un & oR Rereal & @, 39 ferea &1 = R St Y 710 oree & T 4fY forede &1
faeea gt
TRATY
Ans X A TR+ 37
o B. T\ + 377]
25 C. R+
X D.IRA+T]

Question ID : 75322914450
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Q.11 fF=fafad us &, ¥R frereal & @, 39 faerea a1 wa= =3 it 3T 71T 21 & yafgarh e @1 a&@
freraTEi g 1
Tt

Ans o A TOT
X B. ufksm
X C.agd

< D. uarE

Question ID : 75322914453

Q.12 fA=fafad us &, ar el & |, 39 fAeeq o1 =g+ =R it faeia e &1 99 a1 fAeea &1

I

Ans o A UGed
5 B.IW
#< C.derd
5 D. o

Question ID : 75322914454

Q.13 f=fof@d uy d, IR Rereul 7 9, 39 fRaed &1 ag= &3 5t €1 7 gerar o1 agh orf arer e
2l
Sifeaet TORAT

Ans o A TTEAT AAT
75 B.9gd AR AT
5 C. R
25 D. OHTdT AT

Question ID : 75322914464

Q.14 fA=fafad usn &, ar el & @, 39 98 Aeea 1 9a4 R St aremieil & o e 21 &1
forerea g1
foreft & wwgof Sfra=r & wraf o ez

Ans X A ddGR
< B.de™
#< C. shATgER
o D. Sfigaia

Question ID : 75322914455

Q.15 fA=fafaa usr 8, R el | 9, 39 fAehea &1 wa+ = w1t form Rig g+ arera @1 a8 Rferea
g
Ans X A I i 9U 3@ ST A 4| e e # Ted gt A di 87

7% B. TieF ot U 4% ST = BT AU e # T8 gt aafth o 82
7 C. T ol g 3@ 31911 = YT, SMUehl 3T # qerds gl aafwh & 672
o D. I &l gU 3 ST A g1, "SATUh! 3fE # gad gE! Afth & 82"

Question ID : 75322914461
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Comprehension:

2 feg M eyt ht eaTgEeR U ofR IR faehedt # @ ves Ut ol HaH SR A

e o AT SHehell & I USdl ¢ IS STed [Afch SATUhT T 6l el | URSH, 56 §907T A<h d
T 3N AT 0T Sfth ht e she SR STia A heldl HTW & 3T AR U Shed & | &l Agwayuf
q TRUNY § — Udeh GHWT 31U 91 JuY A 31t &1 Udeh gy & mef & oo fafga i &1 v
SIS SIS dTet 3T BT T Tg T AT o7 — g Sfted & Tohed g1 o forg Tweamadt @ due e
T ST AT 51T | BH his off i o, FaTed AR IR Uga o1 Hehed cieh el | hard g4 el
FARrer 1l Rt | T Tl SR HETqwST 3 SraTal ol fshy U & fob due @ S srvrar su fag g
Sifgdene &, aTa enf & ufdge & ofR oo e it sHTaaes wU § afdd SeT &1 31Ty S, IS5y
3G-Tehed SR ITE Ud T1gd & A1 Fuy T fIer 39 R 9fgy ik o= Sfta= & ey i amerei
w4t erzsif wR faerr v Rfrg

SubQuestion No : 16
Q.16 ToEd Tl 3k srgal ot fseref = &2
Ans X A AT BT TTHAT e T AT &
o B. o @ =1 a1 farg g =gt =Ry
K C. Fuef =gt e =1fey
X D. o & eren o g g i =gy

Question ID : 75322914468

Comprehension:

2 feg 7 erter ht emgdes ug ofR IR faehedt | & Ui TSt o aatad SR g |

Geref & AT H Sfhell &1 ToIT USdT &1 his aTadt *1feh SMTuch! g gl et 81 uRem, g gwer Afth @
T ST AT T[0T HAfh ehl TOY el SR ST § TTheldT UTWd e ST AN U ahed 6 | &l JAg<aqol
T TRUNG § — Udeh T 370 91 G ke 3Tell &1 Ucdieh Ty & 1o F faerg ffga @t 81 v
ST BISA dTel U BT i Tg T &1 o7 — Tig ShaT & Thed 814 & forg Teeansr & dud st
T ST AT 51T | BH his off S o, FaTed fAER TR Uge o1 Tehed cieh Tel | FTherd g4 el
o1y 781 Rl | TR U ofR HETgest 3 Srgal l sy Ig § foh du & s3A1 sryar 9 o g
SfEARR &, AT 4 & Ufdichet & SR 370 AT ht sTasdes ©U & a1fdd et 81 Sy ST, Ifdy
3g-Hehed 3R I8 T4 TTed o 1Y Tuy &t faerg 9 R afey iR S Sfias o faehre & amarsii
wOt gt R faerg o Hfg

SubQuestion No : 17
Q.17 Ud<h GHXT U= 1Y AR AT 872
Ans X A Sftes

X B.&H
o C. Tuy
25 D. A o7

Question ID : 75322914467
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Comprehension:

2 feg M eyt ht eaTgEeR U ofR IR faehedt # @ vdes Ut ol FaH SR A

e} o AT SHehell &1 I USal &1 IS STe< [Afch SATUhT Tl ol heell & | URSH, 56 §90T A<k d
T 37 AT 0T Sfth et e shee SR STia H HheTdT HTWT & 3T ART U Shed & | &l Agwayuf
T TRUNY § - U GHWT 31U 91 JuY AR 31t &1 U gy & mef & oo fafga i &1 v
SIS BISA dTet 3T BT ot Tg T AT o7 — Tog SfteH & Tohed 814 o forg Tweamadt ¢ due oA
T ST AT 51T | BH his off S o, FaTed AR IR Uga o1 Tehed cieh el | GhardT g4 el
fFARrer 1T Rt | T Tl SR WRTqwST 3 SraTal ol fishy a1 & fob Tue @ S srvrar su fag g
Sifgdene &, ATa e & ufade & ofR oo faea it sHTaae wU § afdd SeT &1 31T S, IS5y
3G-Tehed SR ITE Ud 1gd & A1y Fuy T fIer 39 R afgy ik o= Sfta= & e i amerei
w4t erzsif wR oo v RfSrg

SubQuestion No: 18
Q.18 39 Terial 1 Iugh 2fiefer orm ghm?
Ans X A. o T ey
X B. gud § &1
5 C. sFTaas duy
«# D. oo a1 gy 9 duy

Question ID : 75322914470

Comprehension:

A feg T erter bt edes ug ofR IR faehedt | & Uik TSt o aatad SR g |

et & AT H Sfhell &1 TeiT USdT &1 his a1adt *1feh STuch! g gl et 81 uRem, g gwor Afth @
T ST AT T[0T HAfh ehl TOY el SR ST § TheldT UTWd e 3T AN U ahed 6 | &l Ag<aqol
T TRUNG § — Udeh TH@T 370 91 G ke 3Tl &1 Ucdieh Iy & 1o F fasg ffga @t 81 v
ST BISA dTel U BT i Tg T &1 o7 — T ShaT & Thed 814 & forg Teeansr & dad st
T ST AT G| BH hig off S o, FaTed AR TR Uge o1 Tehed cieh <ol | FThetdl g4 el
o1y T8 Rl | e vl ofR HETgest 3 Srgat ol sy Ig € foh du & s3A1 sryar 9 o g
SEARR &, ATa 4 o Ufdichet § SR 370 AT ht sTasges ©U & a1fdd et 81 Sy ST, Ifey
3g-Hehed 3R I8 T4 TTed o 1Y Tuy &t faerg 9 R afey iR S Sfias o fahre & amearsii
wUT 231t WR e ur /g

SubQuestion No : 19
Q.19 TN & SITUR A ol Ha st 3R SfiaT d Therar UTed @A a1 AR foherch ZIRT U gie
&?

Ans o A UReM, 3¢ oOT AR A A
¥ B. ufts, gg 5901 A1f<h a & F et ol @i
X C.agdaf
7< D. uRem, HHwIR 96T Ak 9

Question ID : 75322914466
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Comprehension:

2 feg M eyt vt eaTgEeR U ofR TR faehedt H @ Ues Ut ol HaH SR A

T & AT H Shell 6 I USdT &1 i aTg<t A1f<h SITUh TERIdT 81 ahedll ¢ 1 TR, §¢ g°oT1 ARk d
T 37 AT 0T Sfth ht e She SR STa A heTdT HTWT & 3T AR U Shed & | &l Agwayuf
q TRUNY § — Udeh GHWT 31U 91 JuY e 31t &1 Udeh gy & mef & oo fafga s &1 v
SIS B dTel 31U BT ! Tg W a1 o1 — g6 Sfia # Thel 514 o fog Tamasli & Foy ded
T ST AT 51T | BH his off i o, FaTed AR IR Uga o1 Tehed cieh Tl | hard g4 el
fFArRrer 1t Raft | T Tl SR WETqwST & Sraal ol fshy uig & fob dae @ S srvrar su faga g
Sifgdene &, e e & ufade & ofR oo faera it sHTaaes wU § afdd SeT &1 31T S, IS5y
3o-Hehed SR IATE Ud ATed o a1y duy w0 frerg 3 wR afey iR oo Sfta & faremre <t amemait
w4t erzsif wR faer ur RfSrg

SubQuestion No : 20
Q.20 H @ FH9-9T Hehed ohT JATATAT 2reg; 718 87
Ans o A fa@e
/< B. 5@
X C. gl
X D. ufasm

Question ID : 75322914469

Section : Discipline1

Q.1 fr oy & A Sy T &g gl STl 82 (Freheaw IR &1 o 1))
Ans X A 136ad

25 B.209 27 a¥

o C.16T 184

X D.6@ 8T

Question ID : 75322914484

Q.2 Which of the subsequent isn't one amongst the samples of dynamic personality?
Ans X A. Psychoanalytical

#< B. Psychosocial
#< C. Social learning
«” D. Bio-physical approach

Question ID : 75322914482

Q.3 Which among them are Piaget's cognitive processes?
Ans X A. Autonomy and Conformity

#5 B. Identity and Intimacy
" C. Assimilation and Accommodation

#< D. Identity and Autonomy

Question ID : 75322914476

Q.4 Which of the following is not one of the external properties of the person?
Ans X A. postures

#< B. bodily actions
# C. precepts

#< D. expressions

Question ID : 75322914479

@Teacningninia.in




Q.5 S @ T BTl hl TEH TTET TR AT 82
Ans o A TERIT

75 B. IRIRe Ty

5 C. 3™

25 D. ¥

Question ID : 75322914483

Q.6 Which of the following function is not caused by non-print media?
Ans X A. direct attention

< B.increase concentration
#5 C. arouse motivation

& D. diverted attention

Question ID : 75322914485

Q.7 ITH A wiF uga amue (FRwger) S e oear 82
Ans X A G99 Y Ud UG chl HIGHT Sl STUTT

X B. ugH i 3 A AT

o C. e &Y ugar a1 St T g

X D. foreht & aafehca ht Teret et

Question ID : 75322914477

Q.8 hicTent it srawTstt | Ao e i forat srawurd gidt 82
Ans X A7

X B.4

o C.6

X D.5

Question ID : 75322914490

Q.9 FFE™ gar auehar &t "3 ZET AT & w9 | dae fhar?
Ans X A dg0 SR BES

< B. Sfeelt ofiR sigar

o C. g sk Mises

X D. et 3R @

Question ID : 75322914488

Q.10 Child's manual skills develop in which way?
Ans o A. Centre of the body towards periphery

#< B. From top to bottom
#5 C. First inner organs then fingers

#5 D. Periphery then towards the centre of the body

Question ID : 75322914474
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Q.11 T & R f=faf@a & @ w9 a1 o Ao R 6t srewmeil 7 @ ge 7 82
Ans X A @rEIHdr

o B. Jfard (gmRfea)
25 C. WraId (gexr)
X D. =afdem

Question ID : 75322914489

Q.12 Which among the subsequent isn't the principle of development?
Ans X A. Sequentiality

«” B. Stages
#5 C. Continuity
#< D. Differentiality

Question ID : 75322914473

Q.13 fore Soft & gt v =1 & w0 A $991 ik Few &2
Ans o A ST IJUTTH

X B. sig-+iifae Iurm
X C. g
25 D. amfSies sifdem

Question ID : 75322914480

Q.14 IATE I W1 w3 & forg A= amresf anf &:
Ans X A. I gnT, g g, fRa g

< B. & g, ot g, wifkk @i
25 C. g gw, &g gt sig g
o D. T T, 1k T 3R oef it

Question ID : 75322914481

Q.15 While learning a brand new task, a student's performance has improved by the presence of

the teacher. This phenomenon is called as?
Ans X A. Teacher assistance

«” B. Social facilitation
#5 C. Teacher facilitation

#< D. Social presence

Question ID : 75322914475

Q.16 YIGAR™I Il T &7
Ans X A 11-18 a9

¥ B.13-19 a9
X C.11-16 ad
< D.12-19 a¢

Question ID : 75322914471
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Q.17 farrEard) sreRR Sfiae & foham =RoT # faafSia a2

Ans

X A2
X B.16
& C.8
X D.4

Question ID : 75322914487

Q.18 fra A =1 WTuTAer frerrera & sr=ai < wremTaH Y o, STOTMTR, SRR Wehe @17 arel, ok
fehed ot ufafera e & =0 A afofa frar &1

Ans

KA. oferT
X B.f&mR
< C. utant
o D. greife

Question ID : 75322914478

Q.19 Around which month a toddler starts babbling?

Ans

5 A.1 month
" B. 3 months
< C. 12 months
< D. 9 months

Question ID : 75322914472

Q.20 3rafdes W HEH @i bl 32 H9H & IR | T IR A9TeR o 4T @ [ o a1 sergRor &2

Ans

25 A ETaT o e
< B. Tifaes (errewggdl) o forem
25 C. fpear &1 fam
o D. odidar (<) o o

Question ID : 75322914486

Section : Discipline2

Q.1 Which of the subsequent isn't a characteristic of language development?

Ans

< A syntax
#< B. displacement
«” C. sentences

2% D. semanticity

Question ID : 75322914492

Q.2 wdTe Fufent # faera & farat &= 8?2

Ans

A4
XB.3
X c2
X D6

Question ID : 75322914507
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Q.3 Srgadl wRur d & fre d a=at & Riaa & smrHTeTs foaR anfaw gia 82

Ans

XA, 3ituaETies Tfcharates s
7< B. TR e
o C. thehic Gfcharatan srawn

7< D. gd-dferareres s

Question ID : 75322914491

Q.4
Ans

grsu=Ai <hi fehat eamues Aforai &2

X A5
X B.2
& C.3
XD.a

Question ID : 75322914505

Q.5

Ans

FafafEa & @ o= ar srgadt v Rfduar & f8 wror a8 82

X A Ufdeies
X B. gmifoias
o C.a1g

75 D. formrarcht

Question ID : 75322914493

Q.6

Ans

TRYaTE hY Ugelt FIgR T IS T UT?

A THM SETR

25 B. &fhira sifereptiar
7< C.sfaarg

o D. TAM fIHR

Question ID : 75322914499

Q.7
Ans

farem @ a1fAreRR( Right to Education (RTE) ) ahe @17 farar war am?

& A. 4 30T, 2009
X B. 1R, 2005

#< C. 30 g 2005
< D. 432010

Question ID : 75322914498

Q.8

Ans

gmTSies fAfaear & fora TR &2

X A3
X B.6
& C.5
X D.4

Question ID : 75322914494
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Q.9 FH & A utsTTal & FHRIfaT HI ATS T8 8?
o A THISIR-TATER Aled

75 B. Fg-uRfY (aRwd) Afsa

K C. gmifoie-gWifiaT Afsa

< D. affir few Aeads At

Ans

Question ID : 75322914510

Q.10 fore avf & I Areafae e sif Y = forar mar ar?
o A. 2009

X B. 2006
2< C. 2000
2< D.2010

Ans

Question ID : 75322914495

Q.11 fF=afafaa & 9 4 a1 srgad! (Tefiade) aamazft fAen & gwnfaa w aren gfewe 78 82
X A fRienffat & fafqerar

£5 B. S1aETAT
o C.Hifear
25 D. GTeT i Iuereerdar

Ans

Question ID : 75322914502

Q.12 fasty smrazaehar aret frenfal w) Fafda wen A fNen vem = F wgr AT g
7 A uRed=

75 B. G Fier

o C. Yoo

< D. faiwzmar

Ans

Question ID : 75322914504

Q.13 foredh SrgaR "s2fF o1 @ ar 4t uTeT=Et faeTH & sUR ar uRfAe fig & wu | a1 urea=at
forerTa # o=y At & Ty =NAfAT i & T A g et '7

o A ST SR g (1988)
/< B. &, ge. Tdt. 1986

X C. &y et ok o (1957)
7< D. Tuew (1982)

Ans

Question ID : 75322914506

Q.14 ¥Ra # g fora-it sfeai &2
2 A 500 3 H=

«” B. 3000 9 e

Ans

2 C.1000-1200
X D. 1500

Question ID : 75322914496
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Q.15 fFafaf@a d @ w14 a1 srgad! (Tstfiad) ursasha & wrafaa- ot RufRa &= aren FRE T8
&?

Ans X A. fEmea
o B.HifEar
5 C. gaeH
25 D. e

Question ID : 75322914508

Q.16 fre=t FAEeners A & wu | uteg=at Aqw &t a4t Hi?
Ans X A ded(2009)

/< B. gfh= (2004)

o C. TR (1997)

2 D. @ (1997)

Question ID : 75322914509

Q.17 fA=faf@a d @ 14 a1 sgad! (Fstfiad) FRres Rigia 8 82
Ans X A gHEmSER] A&

< B. miefard g
o C. aifge g
25 D. IR sifga Adar

Question ID : 75322914497

Q.18 NMCME a1 guf oo a7 22
Ans X A. National Monitory Commission for Minorities in Education (A3 Rif4e<t i BR
ATEATRENST &7 Goleh™)
#< B. National Monitory Committee for Minorities in Education (3= HifFedt A hik
ATGAIMRENST 3 TSIhe™)
«” C. National Monitoring Committee for Minorities Education (32met AT sfadt hik
ATEATREST TSJehar)
q;g; D. New Monitoring Commission for Minority Education (= AffHeRT s ik ATgArRet
)

Question ID : 75322914500

Q.19 ek guTa=ft et a4 & forg gd e ohear afge?
Ans X A iR fexarae & SR R ST3T i ST HeAT

o B. fveror arft or Iuai s
X C. udtensif & SR WR Feich

#< D. UTSIyEIch 3@

Question ID : 75322914503

Q.20 I & i fafre wansii & @R & 781 &2
Ans X A ufdememed iR T TeTs I

X B. Rreperin =2t
5 C.own

o D. I BT

Question ID : 75322914501
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Section : Discipline3

Q.1 Which among the subsequent isn't the characteristic of language development?

Ans  «# A. Motor movements
£ B. Productivity
5 C. Semanticity

#< D. Syntax

Question ID : 75322914524

Q.2 Uk UTHTA e[ ufshar # foha= 1y geeh gid 82
X A2
X B.6
X C.5
« D.3

Ans

Question ID : 75322914517

Q.3 F=fafE@a & @ i 91 siTehe a8 ST g it Sifdry uftkar & = fava strar 82
& A, YR TRl

75 B. AT 3MTehet

#5 C. IS gedich

& D. AaTes udiem

Ans

Question ID : 75322914518

Q.4 ITH q I AT IUHRUT ATHAR WR gedchiforeh 3ia:fohar & forg sz forar simar &2
o A

< B. UTSIgEIh

< C. ser

< D. gEachrerit

Ans

Question ID : 75322914516

Q.5 BrEAWR IR GioeadmR fFF ICT sasia= Soft & siefa amd &2
25 A, ffaa e

7 B. sifers sifemm

< C. ureaq&ie AT

o D. STTTRTT I eI AT

Ans

Question ID : 75322914513

Q.6 Which among the five “intertwining strands” of mathematical proficiency proposed by

accurately, efficiently and appropriately?

Ans  «# A Procedural Fluency
/< B. Strategic Competence
/< C. Adaptive Reasoning

< D. Conceptual Understanding

Kilpatrick, Swafford and Findell (2001) means - skill in carrying out procedures flexibly,

Question ID : 75322914530

@ Teachingninja.in




Ans

Q.7 39 @ HIF 91 ICT AtE IH=ua: Iuah 78} fahar Srar &2

o A UTEIYETSh e

7< B. 3ifeme fraror

25 C. ICT mezar e freror-sifemm
< D. faf9q yomeht e

Question ID : 75322914515

Ans

Q.8 W @ hI9 T YTUT <kl hF Ag) &2

X A afmTa
o B. SgagH
< C. siadafhe
7< D. fame

Question ID : 75322914526

Ans

Q.9 U FguTwTETe #, farens @t g anfay

< A. SO ATGHTST ST AT ST/ &
«” B. B3I & fAfderar &t @R e

75 C. B ot Siteht Tien & forg FereR aheet
75 D. Teh AT TR €477 AT

Question ID : 75322914519

Ans

Q.10 I |1 IURTH 3y & 31 Y 3R Fgar §?

XA fasawoTee IuTTH

Question ID : 75322914529

Ans

" A. Decoding process

/< B. Pragmatic

< C. Coding

/< D. Meaning-making process

Q.11 Which process involves translating the sounds that the listener receives into standard types
of language?

Question ID : 75322914522

Ans

called?
" A. Translanguaging

/< B. Three language formula
#< C. Language learning
#5 D. Mother tongue learning

Q.12 Switching between the languages one knows so as to maximise communicative potential is

Question ID : 75322914521
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Q.13 = 7 aeR # uRad= &t fha=t &t # afiepa favam &2
Ans A3
X B.4
/K C.5
X D.2

Question ID : 75322914528

Q.14 sraor & e &t g ufdmarg &7
Ans X A e ofk ufafrar

o B. SIS ok aref s Y wiehan
X C. 3=Rur 3R Hsfoi
< D. wifgm-feamifdn

Question ID : 75322914523

Q.15 Which among them are Person-centered families?
Ans " A. More open communication and Language development with ease

#< B. More open communication
2% C. Communication with children is closed

< D. Language development with ease

Question ID : 75322914527

Q.16 frerera e (2012) # ICT &t g A & AR ICT srawiza= i fFah Sftrai #2
Ans X A4

X B.6

xcC5

o D.2

Question ID : 75322914511

Q.17 f3@= Qe Ut (1998) & FFIR ICT ht Heawar aret fAeror-ifdhm ardreror & fora= afis &7
Ans X A8

" B.6

Xcs

X D.4

Question ID : 75322914514

Q.18 foret grar faran for wTa sifthrgor @1 g& o= Sifdes wu @ fuffa g 87
Ans o A. ST ATEHT

< B. R dhictsht
X C. &t tw. R
X D. Srewié sigqr

Question ID : 75322914525
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Q.19 =@ d @ =i a1 geaerifore sid:fohan 1 Iuezor ¢ 87
Ans X A Te

< B. Smars
o C. UTsagich
X D. wirgd e

Question ID : 75322914512

Q.20 Language that's employed in subject textbooks like science, maths, arts, etc is called?
Ans X A. Second language

£ B. Normal language
&” C. Academic language
#< D. Mother tongue

Question ID : 75322914520

Section : Discipline4

Q.1 I & sfagr &t fore=t it A fnfSa e war 82
Ans X A6

X B.2

xXcs8

& D.5

Question ID : 75322914544

Q.2 Which among the subsequent approaches concentrate on readily definable and measurable
knowledge?

Ans X A.Indisciplinary approach
& B. Disciplinary approach
< C. Multidisciplinary approach
Z< D. Unidisciplinary approach

Question ID : 75322914540

Q.3 f=faf@a d @ wiw a1 sigadd (Fsfiad=e) wean feror & amard) atsa i gea faivar 78
&?

Ans X A gganm
25 B. ufafdw
o C. qoTich
25 D. famfor

Question ID : 75322914531

Q.4 el el ot fehe <Y argafar &t @2

Ans X A 3% FHH &M I & folg
o B. AaeIRe digar Riefd o & fag
2 C. Fhaet thefl T [Aehfd & & forg
< D. 3% ugrE ¥ faafera o & farg

Question ID : 75322914541
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Q.5

Ans

5 E's A= o1 A forem foram?
A T

&< B

o C. ISR It

X D.&R

Question ID : 75322914532

Q.6
Ans

sft aRfas foha Rl R waffior e o sk 3d &2
X A4

X B.3

X cC.6

o D.5

Question ID : 75322914546

Q.7

Ans

fora=t ahgt ok v ges "foheft & e ot ga &1 Sttt a1 o wgiAT ar faeft & amifves siflaa &
FO Hel § Hpfad e T A1 §'?

X A Ty &R
7 B. ieft
< C.g=r
 D. @rft e

Question ID : 75322914547

Q.8

Ans

A8 Ayaré & Afse J foha=t s g2
X A3
X B.2
X cC5
& D.6

Question ID : 75322914550

Q.9
Ans

Mc Kernan's model is additionally known as?
25 A. Timely evaluative model

< B. Timely progress model
&” C. Time process model

#< D. Time progress model

Question ID : 75322914538

Q.10 EVS ® GHTT-GHTTT deh-ileh oh SR UTAfAeh ==ROT <7 g1 A1fge?

Ans

25 A U forge

25 B. ust i uRifrd e
o C.U% ! Ugam=-T

#< D. Bl AT Y& AT

Question ID : 75322914535
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Q.11 F=faf@a d @ 9 o= sifveafs a8 &2

Ans

o A TIGIIETS UGl
X B.Tfa

< C. FaYdci o1 @t
7< D. Tfthen sméH

Question ID : 75322914533

Q.12 Art education is predicated upon?

Ans

5 A. The visual and mirror art
«” B. The visual and performing art
#5 C. The performing and pottery art

#< D. The modern and classical art

Question ID : 75322914542

Q.13 Children appraise the situation as changeable, identify the difficulty and decide what to do

Ans

about it. This characteristic is called?
5 A. Problem-centered coping and Emotion-centered coping

#< B. Emotion-centered coping
«# C. Problem-centered coping
< D. Problem solving

Question ID : 75322914549

Q.14 v fAfeyert 2 nfafaf ) Roaforat & Ty dg o= fan, 39+ 39 Sias S gura a8 foran ag st

Ans

& AfNTH i FA T a1 2?

< A. g faeget wfaa =g e

o B. B fafafd &t sifer & 781 Sits urgd

7< C. BT 39 WT TAT P Tohd &
< D. 78 3% &3 fafaa araft e gt sham

Question ID : 75322914534

Q.15 g a1 o o &2

Ans

25 A\ Ueh Ar™IH

«” B. T &l FWR IS h Teh Ufehar
7< C. ardfdendT & gamas

25 D. T &l foaferd st o1 Uep a<ient

Question ID : 75322914545

Q.16 Which of the subsequent could be a performing art?

Ans

& A. Drawing
< B. Sculpture
/< C. Painting
«” D. Theatre

Question ID : 75322914543
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Q.17 What is the role of an instructor in equal status interactions?
Ans X A. Do not supervise and let students do the task on their own

«” B. To check students treat each other with respect
< C. To dictate the text written in the textbook

#< D. To help them writing

Question ID : 75322914537

Q.18 fFAm=faf@a d @ @14 a1 srgad! (Tstfiade) arfSie-witgplas de & siafa smar g?
Ans X A. fRxeror gsETg

o B. Ra=

& C.geH

25 D. gegich gt

Question ID : 75322914539

Q.19 fhedh SR, Heart 1T arfee forarereral & gea ol ag™ &Y STauURUNY SR dersidh &2
Ans X A sfsTE

25 B.@ét

X C. &R

o D. STt Stoparg

Question ID : 75322914536

Q.20 WG & fohert AlE &2
Ans X A3

X B.5

o C.2

X D6

Question ID : 75322914548

Section : Discipline5

Q.1 When do infants starts matching the voice with the appropriate face of the speaking
person?

Ans X A. After 6 months
«” B. Around 3 to 4 months
#5 C. Around 4 to 5 months
#< D. Around 2 months

Question ID : 75322914552

Q.2 The act of counting on another person's emotional reaction to appraise an uncertain
situation is called?

Ans X A.Coping Mechanism
/< B. Displaying emotions
& C. Social Referencing
2 D. Social acting

Question ID : 75322914551
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Q.3 fremeral & ur enteues (TiERR) SR FeNi= miferat Iuetey e & forg w9 er 87
Ans X A.MCD

75 B. ¥z AR
o C. g faamera
#< D.NDMC

Question ID : 75322914556

Q.4 fA=faf@a # @ 9 91 SMC/PTA o1 &if 781 82
Ans X A. frerent &t Frafad Iufedfa ofik swearem gRfga wer

< B. famfor nfafafeat o wdidemor
o C. oH &I Sufefy gfaa s
25 D. 3eTE9 ST G

Question ID : 75322914570

Q.5 Which among them is /are used in open education model?
Ans o A. Printed material and Audios

#< B. Audios
< C. Peers
< D. Printed material

Question ID : 75322914568

Q.6 "faEneal 3R wRi A wWesdr gAY @A S nfafafaat ffafai@a 9 @ g goft 7 engfi?
Ans X A ofeH

o B. Ty 3R wWsdn
7< C.urh
& D.a=

Question ID : 75322914565

Q.7 o fAen A gwear & o fhaa &R siraas &2
Ans X A3

X< B.6

X c2

o D.5

Question ID : 75322914561

Q.8 Which model described the children as an easy child, difficult child, and slow-to-warm-up
child?

Ans X A.Bloom's model
¥ B. Thomas and chess's model
< C. Rothbart's model
< D. Gardner model

Question ID : 75322914554
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Q.9 In which model the training is provided in a training institute and transactional strategies
are lecture, project work, etc?

Ans X A.Face to face model
o B. Face to face Institutional model
#< C. Distance education model

#< D. Cascade model

Question ID : 75322914566

Q.10 1Y 9+ & &R, gd urafiies a= & A1 i ST Hehell 87
Ans X A TgETER

o B. Ruern
5 C. gHehe
25 D. mrar-foar

Question ID : 75322914557

Q.11 SaTehTe= UfAET0T T TERT ATs T 872
Ans X A % g g SRImTd Algd

75 B. = e Afsa

< C. %y g the Afsed

o D. h&he Afed

Question ID : 75322914567

Q.12 f=fafaa A @ 1 a1 e 1 T §?
Ans o A FYRE

75 B. B AT

#< C.gem

& D=

Question ID : 75322914559

Q.13 What is not an advantage of group working?
Ans X A. Skill of teaching and learning

«” B. Divided attention
5 C. Leadership
#< D. Team spirit

Question ID : 75322914564

Q.14 f=fof@a d @ w9 a1 iéa & Ha 82
Ans X A Ta

< B. Imaw

X c.ig

« D.a

Question ID : 75322914558
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Q.15 NEP 1986 7 v frer &) fohwr srauron & &0 # wfiter frar?
Ans X A. Iugnft IcTedh Bt

o B. QTSI ®U § IuANT IcTGeh Sl

X C. Rgmr et

X D. amfSiss ahrd

Question ID : 75322914563

Q.16 Uk fAereh a=ai ot ferea & SRR WivH FA & 8 Ak Tohar 872
Ans X A I W ITER 3R Ik et o AR H ST s
2 B. & A gt ol @ Y ergafa &
o C. I WX ITER SR Ik A1l & IR # AT e SR SfiSTaentar & uget g1 o it
e ATl
25 D. SISHTEaeRIRT O Uge 8T ¢ i tcanfgd e

Question ID : 75322914560

Q.17 f=fof@a & & fram o= féies qaf= & e & a1y Fm A wr =ik fRa?
Ans X A @rft fadee

25 B. iy &R

o C. TgTc el

2 D. sRfa=

Question ID : 75322914562

Q.18 SMC Uewl & faraa ufasra arar-fany/sifaurees gia @i g?
Ans X A 33%

< B.50%

o C.75%

7< D.60%

Question ID : 75322914569

Q.19 If the mother labels emotions, explain them and express warmth and enthusiasm towards
her children from a really early age. What's going to be the impact on children?

Ans o A They have better emotionalunderstanding and They use more emotional words
< B. They have better emotional understanding
#< C. Children become over-emotional

#5 D. They use more emotional words

Question ID : 75322914553

Q.20 frarera & fier o 98 g anfge?
Ans X A Q&G

X B. e ot feear

7< C. vz o= o1 gt

o D. urt & geft Efhat

Question ID : 75322914555
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